SELECT SWITCHGEAR & CONTROL
UNIT 2, 7 MAGNA ROAD, WIGSTON
LEICESTER LE1B 4ZH
TELERPHONE 0116 2787776
FAx 0116 2477760

CONTRACT No ) ¢+ 16 F +
CONTRACTE MG PlorT S [y DisTiuRuTion) 2oarkd 1

E-MAIL - INFO@SELECTSWITCHBEAR.CO.UK

CUSTOMER ASSEMBLED BY M .)oYc& DATE / /
WALTER MILSS ELECTIACAL ENGUGERS.  M-McOonagH 93(23
INSPECTION REPORT
CHECK REQUIRED COMMENTS PASSED

Metalwork checked & satisfactory

Are sizes of switches to drawing

Are fuse sizes / trips to drawing

Switch door interlocks operate

Padlock facility available & working

Busbars phase marked
Earth bar marked
Earthing to specification ALL SScl STamdA) .

External label square and to drg

Internal labeling

Jointing brackets fitted

Gland plates fitted

NN NN SRR

Danger labels fitted

\

v

Incomer rating 2200A

Incomer type MTZ 2 Hl RTLooA Y PoresE ACK ML S.oX
Main busbar rating 320cA /
Main busbar size TWAN OOX(IOrm CaPR= BAA., /
Main busbar position SeE ADDED SHeET 3. /
Earth bar size LOx\Omum COPPET RaAL . /
Earth bar position TofP/Botrem FronsT 4t Hole )P /Do,
Dropper busbar Nol rating lboo A /
Dropper busbar Nol size Bo xiOmm COPPER RAR /
Dropper busbar No2 rating j L-oonA /
Dropper busbar No2 size 60X \Omm CoPfenr. AR /
Dropper busbar No3 rating 12.S0A /
Dropper busbar No3 size SO0 x\Omox CoPPER. A’ . //
Cable ratings ALL SSCcL STANDALD . ¢
Intermediate tightness check & mark ) 3 . McDNemagH (\ @Ef)) //
Tightness check & mark ) -

vy



SELECT SWITCHGEAR & CONTROL
UNIT 2, 7 MAGNA ROAD, WIGSTON
LEICESTER LE1B 4ZH
TELEPHONE 0116 2787776
Fax D116 2477760
E-MAIL - INFD@SELEDTSWITGHGEAR.ED.UK

TEST REPORT
FLASH TEST 2KV MEGGER TEST 500V PASSED

Section number 1 23 |4a|s|6|1]|2]3]|4a]s

LitoL2 OessS INF B4
L1toL3 PesS> INF A
L2toL3 PpcS (NF IR
L1 to Neutral > In¢ D AR
L2 to Neutral P INF V%7l
L3 to Neutral &S INF :QWP'
L1 to Earth Poes INF M y
L2 to Barth Cos5 INF =Yz
"L3 to Earth P& ! 'JF Wr
Neutral to Earth ?pss IRE W i
OTHER TESTS

NEE link position L\WE SiDE oF mainS/qENSTATOR. [Ncomets ¥

CT size & position

= AS Brren DRAINGS |,

RayisigH Ri-F 2oo/4ocoedus .

Component instructions inc.

d
Metering )/
Restricted earth fault NlA NG
Control circuits D ALL PacroaY TESTED L FuLyy v
Relays / timers / PFC set § e NG /
Continuity test —’ /
As fitted drawings /

z

Busbar links & bolts

Photographs taken N A ~N I A
REWORK REQUIRED
SELECT SWITCHGEAR & CONTROL LTD WITNESSED BY

SIGNED

Lo 2L

NAME

T 1 Dewsacd SIOVED

NAME




SELECT SWITCHGEAR & CONTROL
UNIT 2, 7 MAGNA ROAD, WIGSTON
LEICESTER LE1B 4ZH
TELEPHONE D116 2787776
FAx 0116 2477760
E-MAIL - INFO@SELECTSWITCHBEAR.CD.UK

CONTRACT No 33 ¢+ 1 &7 A
EmeG Proet S Lv DisTRRiIBUTION Roaah 2.

CONTRACT
CUSTOMER. _ ASSEMBLED BY__H Deves DATE 7 l l .
WaLter Mies ELECTIVCAL enq. 3 Mo At 22.13/23
INSPECTION REPORT

CHECK REQUIRED COMMENTS PASSED
Metalwork checked & satisfactory \/
Are sizes of switches to drawing /
Are fuse sizes / trips to drawing 1/
Switch door interlocks operate /
Padlock facility available & working /
Busbars phase marked v
Earth bar marked v
Earthing to specification ALL SsScl ST NARD. /
External label square and to drg v
Internal labeling /
Jointing brackets fitted v
Gland plates fitted /
Danger labels fitted ‘/ -
Incomer rating 22004 v
Incomer type MTZ 2 HI 3200A ( POLE ACB ML .ox
Main busbar rating 2200A e
Main busbar size TN loOx1Omm CoPAER AAg. /..
Main busbar position SeE SHeEET 3. '/,
Earth bar size LhOX\Omu COPRIR. BAK, v
Earth bar position Tof eront o.f Hots DowN - i
Dropper busbar No1 rating 7. 000A . /
Dropper busbar Nol size 1OOX O COPFER Bl . -
Dropper busbar No2 rating (booA ‘/
Dropper busbar No2 size BO X (Omum CTOPAER. RAR-- v
Dropper busbar No3 rating [2.SOn /
Dropper busbar No3 size SoxtOum Coflit RAR ., /
Cable ratings AcL SScl STanoArD, v
Intermediate tightness check & mark ) 3 MDDt ( 2+=0 ) /,
Tightness check & mark g ) v

7




SELECT SWITCHGEAR & CONTROL
UNIT 2, 7 MAGNA RDAD, WIGSTON
LEICESTER LE1B 4ZH

TELEPHONE 0116 2787776

FAX D116 2477760
E-MAIL - INFD@SELEDTSWITCHGEAR.BD.UK

TEST REPORT
FLASH TEST 2KV MEGGER TEST 500V PASSED
Section number 1 3 4 5 6 1 2 3 4 5
LltoL2 Pes® INE cﬁ@ﬁg&é’
LltoL3 (i INF )y~
L210L3 P’ INE p
L1 to Neutral () (NF O
L2 to Neutral Cecs2 INE 2
L3 to Neutral fs? INF 'aé/j
L1 to Earth i In¢ AR,
L2 to Earth Prs> INF PRI
L3 to Earth Caaiid INF ite]
Neutral to Earth Pag’ INF 4 M
OTHER TESTS
NJE link position Liwve SI1OE _OF mnpnds ] GEnERATOR N CpASIE
CT size & position See AS E(tteED DRAWINGS . /
Metering Ravisied RL-F 200 /4o e,
Restricted earth fault Nn/A N[A
Control circuits 2 ALL Sscl FACTORY TESTED £ “/
Relays /timers /PFCset | ) EoLLyY wdorlkins | /
Continuity test /
As fitted drawings ./ P
Component instructions inc. / P
Busbar links & bolts 7
Photographs taken N }A N , A
REWORK REQUIRED
SELECT SWITCHGEAR & CONTROL LTD WITNESSED BY
SIGNED |/, 2 4. | NAME |5~ 34 [Vpusncyd SIONED NAME
[ 74 A




SELECT SWITCHGEAR
& CONTROL LIMITED

Unit 2, 7 Magna Road, Wigston, Leicester, LE18 4ZH

T: 0116 2787776 | F: 0116 2477760 | E: info@selectswitchgear.co.uk

43S

NEUTRAL - EARTH

blo

Site Test Report

Site: Plot 5 East Midlands Gateway 24th March 2023

Walter Miles Electrical Engineers Ltd

C/0 Winvic Construction

Plot 5 East Midlands Gateway
Address Segro Logistics Park

DE74 2BB
Contract No. J4167 L. v S LI LT H 60 04-(24& 1
Customer Walter Miles Electrical Engineers Ltd

FLASH TEST 2KV MEGGAR TEST 500V
Section number 1 3 4 5 6 1 2 3 4 5 6 SIGNED
L P
L11-12 23'1 [V
11-13 3%| e e
2-13 LE? v
L1 - NEUTRAL B3Q e
2-NEUTRAL |} & v_
L3 - NEUTRAL 3L v
L1 - EARTH q’3‘1 v
L2 - EARTH L\L\— 5 L
L3 - EARTH ‘/
|/

Neutral - Earth link re-connected if fitted

All fuses replaced after Flash/Megger tests

Neutral connection replaced in surge arrestor

All tools removed from panel

Panel surfaces cleaned

Top of switchboard sealed

Signed By

iy

Witnessed By

W A<




: e ™ SELECT SWITCHGEAR
A — & & CONTROL LIMITED

Unit 2, 7 Magna Road, Wigston, Leicester, LE18 4ZH

T: 0116 2787776 | F: 0116 2477760 | E: info@selectswitchgear.co.uk . !

Site Test Report

Site: Plot 5 East Midlands Gateway 24th March 2023

Walter Miles Electrical Engineers Ltd
C/O Winvic Construction

Plot 5 East Midlands Gateway
Address Segro Logistics Park

DE74 2BB

Contract No. J4167 L v S> wiTeH % o "\"@O 2.

Customer Walter Miles Electrical Engineers Ltd
FLASH TEST 2KV MEGGAR TEST 500V
Section number 1| o2 | 3 a | s 6 1 2 3 4 5 6 SIGNED
-2 v SSQ Sy
11-13 v %9072 W
2 v $3
7

L1 - NEUTRAL v 590 /W/—/

2 - NEUTRAL e 1€ JI——

3 - NEUTRAL v’ > (000 'ﬁ;by/z/-vﬁ
.1- EARTH v’ > (oo N~

2 - EARTH v >l 000 % e ——

3 - EARTH vV Mooo W
IEUTRAL-EARTH | B ooo W 7—
leutral - Earth link re-connected if fitted M. So Y e g

Ii fuses replaced after Flash/Megger tests D . ) c() oM A L)

eutral connection replaced in surge arrestor D ) M C/O ON A Cr L]

i tools removed from panel A LL .

snel surfaces cleaned 3 .M Donl A<

» of switchboard sealed D. M ‘_JS >AAS H

Signed By W

Witnessed By %W




Electrical Services R1 April 2023 EMG Plot 5

MAIN LV PANEL



2220mm

SUPPLY VOLTAGE
BUILD STANDARD

FORM FORM & TYPE 2
CONSTRUCTION LOGSTRUP_MODULAR
IP_RATING P31

COLOUR RAL7035 LIGHT GREY
VENTILATION SSC STANDARD VENTING
INCOMING CABLES BOTTOM ENTRY
OUTGOING CABLES TOP EXIT

PANEL ACCESS FRONT

BUSBAR SUPPORTS

230/400V_50Hz
BSEN61439

SOCOMEC SBC10 & POLE
RAYLEIGH RFI200

METERING INCOMING

ROOF DETAIL

METERING OUTGOING N/A
DEVICES SCHNEIDER
SHORT CIRCUIT RATING | 65kA
STA CERTIIED CERTIFICATE o 7508 == == 3mm STEEL GLAND PLATE == == 3mm STEEL GLAND PLATE == 3mm STEEL GLAND PLATE == 3mm STEEL G/PLATE|[! 6mm ALUMNIUM GLAND PLATE
MAINS BUSBARS M| TWIN 100X10mm
| Al TWIN 100X10mm
DROPPER BUSBARS | 8] 60X10mm
| c [ 80X10mm
|o] 50X10mm
€ | 80X10mm C/W SPREADERS
EARTH BAR €8] 40X10mm TOP/BOTTOM FRONT
I_ TT TT TT TT TT TT TT TT TT TT _I
820mm 5570mm
I 760mm I 1330mm I 950mm I 570mm I 570mm I 760mm I S70mm |

@ 000000000 000000000 I-—- = = 9000000 | O
—_— [
—_— 11
11
W
25 33 REMOVABLE N/E LINK
NSX100N NSX100N SPACE SPACE
M/L22 M/L22 FOR FOR
PN MCCB TPN MCCg FUTURE OUTGOING CABLES FUTURE INCOMING CABLES FROM EXTERNAL
- © 7imm & CORE CABLES @ ADDITIONAL BLANKING _| peBASE 112 BOLTED CONNECTION
MAINS METERING & TVSS COMPARTMENT 1 9 18 26 PER PHASE M1z BOLTED CONNECTION 34 “| PLATES TO ALL SAPRE
NSX100N CABLE CHAMBER NSX100N NSX160N CABLE CHAMBER SPACE SPACE | WAYS IN SWITCHBOARD
M/L22 TMLOD M/L22 FOR FOR
TPN MCCB| TPN MCCB TPN MCCB FUTURE FUTURE
v/
R 2 10 19 27 A e 35
nﬂ.:w NSX100N NSX100N NSX160N NSX250N e 1liat TEMPORARY PVC SPACE
ﬁ M/L22 M/L22 M/L22 M/L22 Ly ] wuuuamﬁwmwmmm FOR
TPN MCCB TPN MCCB TPN MCCB TPN MCCB ===l FUTURE
1 E_Rel 4 CABLE GLANDING
MAINS INCOMER 3 RED PLATE " 28 u.nlu_l 1 36
SCHNEIDER MTZ2 H1 3200A & POLE NSX100N C/W LOCK ON| [ TM16D DP NSX250N u._.u..u IS SPACE
FIXED PATTERN ACB M/L22 DEVICE 1© M/L22 Wyl fo006000000 FOR
I C/W MICROLOGIC 50X TRIP UNIT TPN MccB Lv429371 | | tvieD DP TPN MCCB S G ] FUTURE ® ToNrenre1m®] || rweorary PvC
1 n T  SHROUDING TO BE
4 I 21 29 o _ 37 .
= NSX100N NSX100N NSX100N NSX250N o a3 _.m.m HF10-12 SPACE HF13-15 mmumk mnc_. bﬂ.mm
| M/L22 M/L22 M/L22 M/L22 L) I w FOR w
i TPN MCCB TPN MCCB TPN MCCB TPN MCCB Elsemesalld | N FUTURE NLS
[Tl
1! 5 1% 22 30 o 32 38
! | NSX160N NSX100N SPACE NSX250N B EB _.m.m NS1250 M/L20E 4 POLE MCCB SPACE mnzzm_%m_mz ﬂwmonw_z_mw%x.. POLE
1d M/L2.2 M/L2.2 FOR M/L2.2 Wy g FOR FIXED PATTERN ACB
1 t TPN MCCB TPN MCCB FUTURE TPN MCCB Sl O | o FUTURE C/W MICROLOGIC 2.0X TRIP UNIT
.
I 6 5 23 . 1 39 i__=
co! NSX250N NSX100N SPACE b SPACE =
M/L22 M/L22 FOR 3 Pl 2 Tl P : FOR
TPN MCC PN MCCB FUTURE === FUTURE
Dl & i r L L
w CABLE CHAMBER g CABLE CHAMBER M Al T g B)| |o=
INCOMING CABLES 6X800mm SINGLE CORE 7 16 24 TPN MCCB [} - =
CABLES PER PHASE zmw_uwonz zmw_mw.wz mmb_mm ] e
4 HOLE LUG BOLTED CONNECTION : : ———El
TPN MCCB TPN MCCB FUTURE
T T
6mm ALUMINIUM GLAND PLATE 6mm ALUMINIUM GLAND PLATE | |
___LOCATED APPROX 300mm FROM FFL __ LOCATED_APPROX 300mm FROM FFL ! !
|||||||||||||||||||||| RS485 MF4-6 MF1-9 | |
I I
SPECIAL GLAND PLATE 650mm m m m | ° @ I @
NL2 NL3
| C
® o | _
CUSTOMER REV DESCRIPTION DATE
A SWITCHBOARD UPGRADED TO FIT-0OUT 13-12-22
WALTER MILES ELECTRICAL ENGINEERS LTD B 1600A GENERATOR INCOMER ADDED 3-1-23
C 40A MCCB TO WAY 21/METERING ADDED 2-2-23
D
E
TITLE
EMG PLOT 5 SELECT SWITCHGEAR & CONTROL _ux>ﬂ<z ISSUE | SHEET No [DATE DRAWING N
. . . 0 0
Unit 2, 7 Magna Road, Wigston, Leicester LE18 4ZH
LV DISTRIBUTION BOARD 1 Telephone 0116 2787776 Fax 0116 2477760 J DENHAM JL167
e-mail - info@selectswitchgear.co.uk b 10F 2| 23-11-22




WEIDMULLER
CLASS 1711
SURGE
ARRESTOR

NSX160N
TM160D SN1
TPN MCCB

3200/5A PV CURRENT TRANSFORMERS

RAYLEIGH RI-F200 MULTI FUNCTION METER

CUSTOMER

WALTER MILES ELECTRICAL ENGINEERS LTD

TITLE

EMG PLOT 5

LV DISTRIBUTION BOARD 1

FOR CONNECTIONS BY PV SPECIALISTS Lz N
ON SITE AFTER SITE ASSEMBLY 7 16 19 10
T
6l5|s3]2]1 654321”F1'3XXXE]NL1
oA 6X800mm SINGLE CORE CABLES PER PHASE
L & HOLE LUG BOLTED CONNECTION
————— U
MAINS INCOMER  ©B)
& T SCHNEIDER MTZ2 Hi 12 |;€gé|§1350\éu5popl>-|f¥
L03 La3 3200A 4 POLE FIXED PATTERN 3
N N ACB C/W MICROLOGIC 5.0X TRIP n  BOTTOM ENTRY
o \ O o \ O/
E
REMOVABLE N/E LINK
RAYLEIGH RI-F400 MULTI FUNCTION METER
L1 L2 L3N
718 [9 10
MF13-1SX X X EJNLS
6A TBC SWA 4 CORE CABLES
M12 BOLTED CONNECTION
= GENERATOR INCOMER 0B) M L00/230V 50Hz
= SCHNEIDER MTZ1 H3 L2 COMNG SUPPLY
= 1600A 4 POLE FIXED PATTERN 3
ACB C/W MICROLOGIC 2.0X TRIP . TOP ENTRY
E
REMOVABLE N/E LINK
REF | MCCB | SET AT LABEL CABLE  |TERMINATION | ENTRY
paa NSX100N Z5mm
209 1 A 80A DB3 GROUND FLOOR OFFICE \ Core thaLes| M6 BOLT TOP
paa NSX100N 25mm
209 2 A 80A DBL FIRST FLOOR OFFICE \ Core thaLes| M6 BOLT TOP
paa NSX100N 25mm
209 3 A 80A DB5 SECOND FLOOR OFFICE 4 ConntagLe | M6 BOLT TOP
paa NSX100N 25mm
203 4 VA 80A DB6 THIRD FLOOR OFFICE 4 Core CapLe | M6 BOLT TOP
paa NSX160N 70mm
203 5 VA 160A DB7 OFFICE MECH \ COR CABLEs|  M® BOLT TOP
paa NSX250N 120mm NARROW PALM
203 6 wiag 250A DB10 OFFICE MECH 4 Cone CABLEs| M8 BOLT TP | UeS REQUIRED
paa NSX100N 50mm
. 7 VA 100A DBB WAREHOUSE POWER \ Cone CABLEs| M6 BOLT TOP
paa NSX100N 35mm
£03. 8 VA 63A DB9 GATEHOUSE \ Cone CABLEs| M6 BOLT TOP
paa NSX100N 6mm
£03. 9 oD 40A EXT1 EXTERNAL LIGHTING 1 \ CoRe CapLes| M6 BOLT TOP
paa NSX100N 6mm
. 10 VA 20A LIFT SUPPLY 4 CORE CapLe | M6 BOLT TOP
NSX100N 25mm
1 IED 16A FIRE ALARM PANEL 3 cone gL | M6 BOLT TOP | RED cover
NSX100N 25mm
12 Holpts 16A DISABLED REFUGE PANEL 3 Cor CapLe | M6 BOLT TOP | RED cover
paa NSX100N T0mm
. 3 VA 40A ROLLER SHUTTER DOOR BUSBAR GL 13/A |, oo CapLes| M6 BOLT TOP
203 1 | NSXWON |50 | ROLLER SHUTTER DOOR BUSBAR GL 18/A[, . 1omm M6 BOLT TOP
Sos M/L2.2 4 CORE CABLES
paa NSX100N 77mm
£03. 15 VA 100A FUTURE NORTH HUB 4 Cont CapLe | M6 BOLT TOP
paa NSX250N 70mm
. 1 wiag 160A AHUO1 BATTERY \ CoR CABLEs|  M® BOLT TOP
paa NSX100N 35mm
£03. 7 VA 100A AHUO1 4 Cort CapLe | M6 BOLT TOP
paa NSX160N 50mm
£03. 18 VAL 160A o1 \ CoRe CABLEs| B BOLT TOP
paa NSX160N 50mm
. 19 VAL 160A Y \ Core CABLEs|  MB BOLT TOP
paa NSX250N 95mm
203 20 | B 200A FP1 EVC DB \ CoRe CABLEs|  MB BOLT TOP
pas NSX100N Tomm
£05; 21 VA 100A LINK BRIDGE LIFT 4 CORE CapLe | M6 BOLT TOP
22 | FuTURE TOP
23 | FuTuRE TOP
24 | FUTURE
25 | FuTURE
26 | FuTURE
pas NSXZ50N 95mm
205 7 | B 200A FP2 EVC DB 4 Core CapLe | M8 BOLT TOP
pas NSX250N 120mm NARROW PALM
. | B 200A FP3 EVC DB 4 Core ChpLe | M8 BOLT TP | lce REQUIRED
pas NSX250N 150mm NARROW PALM
205 » | By 200A FP4L EVC DB 4 Cone ChpLe | M8 BOLT TP | lce REQUIRED
paa NSX250N 95mm
205 0 | NBy 200A FP6 EVC DB 4 Core CapLe | M8 BOLT TOP
pas NSXL00N | 250A TRIP 2L0mm NARROW PALM
g 3 M/L23 200A FP5 EVC DB 4 CORE cALe | M8 BOLT TOP || yGS REQUIRED
paa NS1250N 27mm
205, 3 | W | 12504 PV DISTRIBUTION BOARD 4 Conr CapLe | M8 BOLT TOP
33 | FuTURE
3% | FUTURE
35 | FuTURE
36 | FUTURE
37 | FuTURE
38 | FUTURE
39 | FuTURE
40 | FUTURE
DENOTES RAYLEIGH RI-F400
(_QJ METER MULTI FUNCTION METER
(]
FITTED L1 L2 13 N FIRST METER
MF SEE GA D o .
6A
e .
C 8 L SCN
9 RS485 LOOP WIRING
) o— LAST METER LOOP TO ALL METERS TERMINALS LOCATED.
NL SEE GA R _ _ - IN CABLE CHAMBER
AJ ] il
= L D o - out
TYPICAL
= OUTGOING [—L2 L SCN
MCCB
= —L3
REV DESCRIPTION DATE
A SWITCHBOARD UPGRADED TO FITOUT 13-12-22
B 1600A GENERATOR INCOMER ADDED 3-1-23
C LOA MCCB ADDED TO WAT 21/METERING ADDED 2-2-23
D
E
F
SELECT SWITCHGEAR & CONTROL DRAWN ISSUE | SHEET No |DATE DRAWING N
Unit 2, 7 Magna Road, Wigston, Leicester LE18 4ZH © ©
Tel : 0116 2787776 Fax : 0116 2477760
J DENHAM 4 2 OF 2| 23-11-23 JL167

e-mail - info@selectswitchgear.co.uk




SUPPLY VOLTAGE

2307400V 50Hz

BUILD STANDARD

BSEN61439

ROOF DETAIL

FORM FORM &4 TYPE 2
CONSTRUCTION LOGSTRUP MODULAR

IP RATING P31

COLOUR RAL7035 LIGHT GREY
VENTILATION SSC STANDARD VENTING

INCOMING CABLES

TOP ENTRY

OUTGOING CABLES

TOP EXIT

PANEL ACCESS

FRONT

BUSBAR SUPPORTS

SOCOMEC SBC10 & POLE

METERING INCOMING

RAYLEIGH RFI200

DEVICES

METERING OUTGOING N/A
SCHNEIDER
SHORT CIRCUIT RATING | 65kA

ASTA CERTIFIED

CERTIFICATE No 19808

MAINS BUSBARS

TWIN 100X10mm

100X 10mm

DROPPER BUSBARS

80X10mm

50X10mm

M
A
B
| c | 80X10mm
D
E

80X10mm C/W SPREADERS

6mm ALUMINIUM GLAND PLATE

———

3mm STEEL GLAND PLATE

r
I
|
|
|
|
| S

3mm STEEL GLAND PLATE

3mm STEEL GLAND PLATE 3mm STEEL GLAND PLATE

émm ALUMINIUM GLAND PLATE

2220mm

EARTH BAR eB| 40X10mm TOP/BOTTOM FRONT
L —_—— —_——————_———day e | - —_—— e ] J— 1
T TT T TT TT TT TT TT T
820mm 4430mm
790mm 950mm 570mm 570mm 950mm 600mm
émm_ALUMINIUM GLAND PLATE
B o BEEE X I X 00000000000 |

romr o ——d

IF=3r=3r=3
ity

| IREMOVABLE NEUTRAL/EARTH LINK
(93]

INCOMING CABLES 6X800mm SINGLE CORE
CABLES PER PHASE
4 HOLE LUG BOLTED CONNECTION

MAINS METERING & TVSS COMPARTMENT

CF1-3
mm

[ITHT]
NL1

CABLE CHAMBER

OUTGOING CABLES
2X240mm 4 CORE CABLES

PER PHASE M12 BOLTED CONNECTION

- 3 - I - - -

ADDITIONAL BLANKING
PLATES TO ALL SPARE
WAYS IN SWITCHBOARD

OUTGOING CABLES
7?mm 4 CORE CABLES
PER PHASE M12 BOLTED CONNECTION

"000000066" CABLE CHAMBER

———TEMPORARY PVC

MF7-9
mm
[iri]

NL3

SHROUDING TO BE
REMOVED AFTER
CABLE GLANDING

MF10-12

mm
W

NL&

M/L2.2

B-Bar—a TPN MCCB

MAINS INCOMER
SCHNEIDER MTZ2 H1 3200A &4 POLE
FIXED PATTERN ACB
C/W MICROLOGIC 5.0X TRIP UNIT

o=

M/L2.2
TPN MCCB

R

i M/L2.2
B_er—a "\ MCB

el 1 M
T el NSXI00N

T

Bl
bli} M/L2.2

TPN MCCB

r——1

E_E=I”3
|
|

®

_

CABLE CHAMBER

RSL85 MFL-6

NL2

8
NSX630N M/L2.3 TPN MCCB

g_G8_>u

10
NS1250 M/L2.0E 4 POLE MCCB

13

SPACE |

FOR

3
|
|

L —— d

FUTURE F===== 3

16

NSX250N o T
M/L2.2
TPN MCCB Bl

iy

REMOVABLE N/E LINK

BZR=TC

INCOMING CABLES FROM EXTERNAL
GENERATOR POINT ??mm SWA

@. IIIII F—————-|PER PHASE M12 BOLTED CONNECTION

\

TEMPORARY PVC

17

NSX100N
M/L2.2
TPN MCCB

SHROUDING TO BE
REMOVED AFTER
CABLE GLANDING

NSX400N DI
M/L2.2 (250A) _nu“
TPN MCCB () —

1 1 Ul
SPACE
FOR
FUTURE

SEE NOTE

I I 12 @.

O CABLE CHAMBER

)

| ity |
(R L B |

SPACE
FOR
FUTURE

SEE NOTE

18

NSX160N
M/L2.2
TPN MCCB

19

NSX160N
M/L2.2
TPN MCCB

20

NSX100N
M/L2.2
TPN MCCB

GENERATOR INCOMER

SCHNEIDER MTZ1 H3 1600A 4 POLE

FIXED PATTERN ACB

C/W MICROLOGIC 2.0X TRIP UNIT

n m
i

®

|
|
+
|

CUSTOMER

WALTER MILES ELECTRICAL ENGINEERS

LTD

TITLE

LV DISTRIBUTION BOARD 2

EMG PLOT 5

SELECT SWITCHGEAR & CONTROL

Unit 2, 7 Magna Road, Wigston, Leicester LE18 4ZH
Telephone 0116 2787776 Fax 0116 2477760
e-mail - infoM@selectswitchgear.co.uk

REV  [DESCRIPTION DATE
A SWITCHBOARD UPGRADED TO FIT-OUT 13-12-22
B 1600A GENERATOR INCOMER ADDED 22-12-22
C INCOMER CHANGED TO TOP ENTRY 2-2-23
D WAY 8 CHANED TGO 630A/METERING ADDED 2-2-23
E
T
DRAWN ISSUE | SHEET No|DATE DRAWING Nao
J DENHAM 5 10F 2| 23-11-22 JL16TA




RAYLEIGH RI-F200 MULTI FUNCTION METER

L1 L2 L3 N
3200/5A PV CURRENT TRANSFORMERS -9
FOR CONNECTIONS BY PV SPECIALISTS
ON SITE AFTER SITE ASSEMBLY
N
WEIDMULLER |_| |_| |_|
CLASS 171l
SURGE MF1-3
ASURGE 6ls|al3|2]1 6|5|6|3]2]1 - XXBNU
6X800mm SINGLE CORE CABLES PER PHASE
4 HOLE LUG BOLTED CONNECTION
— oS- D ¢ MAINS INCOMER 82 N 400,230V 50H
TM160D gsm = S SCHNEIDER MTZ2 HI1 L2 z
TPN MCCB X! o 3200A 4 POLE FIXED PATTERN 13 INCOMING SUPPLY
° ° ACB C/W MICROLOGIC 5.0X TRIP N BOTTOM ENTRY
E
REMOVABLE N/E LINK
RAYLEIGH RI-F400 MULTI FUNCTION METER
L1 L2 L3 N
7 18 19 [10
MF16-18
6A NL6 TBC SWA & CORE CABLES
M12 BOLTED CONNECTION
= ¢ GENERATOR INCOMER (B2) N 100/230V 50H2
= SCHNEIDER MTZ1 H3 L2 INCOMING SUPPLY
= 1600A 4 POLE FIXED PATTERN L3
ACB C/W MICROLOGIC 2.0X TRIP N TOP ENTRY
E
REMOVABLE N/E LINK
REF MCCB SET AT LABEL CABLE TERMINATION [ ENTRY
pad NSX100N 6mm
265, 1 TMLOD LOA EXT2 EXTERNAL LIGHTING 2 L CORE CALES| M6 BOLT TOP
paa NSX100N 35mm
269, 2 M/L22 100A WAREHOUSE LIGHTING BUSBAR ROW 1-21 |, (oo™ o o | M6 BOLT TOP
b aa NSX100N 70mm
£65; 3 M/L22 100A WAREHOUSE LIGHTING BUSBAR ROW 22-42| , oo caple | M6 BOLT TOP
pad NSX100N 95mm
265, A M/L22 100A WAREHOUSE LIGHTING BUSBAR ROW 43-63| | (oot Cpo | M6 BOLT TOP
paa NSX100N 10mm
269, 5 M/L22 LOA ROLLER SHUTTER DOOR BUSBAR GL13/J |, cone'Cagp | M6 BOLT TOP
paa NSX100N 10mm
&6 6 M/L22 LOA ROLLER SHUTTER DOOR BUSBAR GL18/J | . .ok capLe | M6 BOLT TOP
NSX100N 35mm
7 M/L22 63A DB21 SPRINKLER PUMPHOUSE L CORE CABLES| M6 BOLT TOP
paa NSX630N 2X240mm
863 8 M/L23 630A DB30 WAREHOSE CENTRAL BATTERY |, coc”camips| Mf2 BOLT TOP
pag NSXLOON | 250A TRIP 2L.0mm NARROW PALM
&6 9 M/L22 200A DB20 WAREHOUSE & MEZZANINE BOARD |, oof”t)io col  MI0 BOLT TOP | UGS REQUIRED
o ad NS1250N 2?mm
269, 10 M/L20F 1250A FUTURE PV DISTRIBUTION BOARD L CORE CABLE | M2 BOLT TOP
11 FUTURE
12 FUTURE
13 FUTURE
16 FUTURE
15 FUTURE
paa NSX250N 70mm
269, 16 M/L22 160A AHUO2 BATTERY L CORE CaBLEd M8 BOLT TOP
o aa NSX100N 35mm
&6, 17 M/L22 100A AHUO2 L CORE CABLE| M6 BOLT TOP
pad NSX160N 50mm
265, 18 /122 125A cuo3 L CORE CABLES| M8 BOLT TOP
paa NSX160N 50mm
269, 19 M/L22 125A CUOL L CORE CABLES| M8 BOLT TOP
o aa NSX100N 2?mm
&6, 20 M/L22 100A FUTURE SOUTH HUB L CORE CABLE| M6 BOLT TOP
RS485 LOOP WIRING
TO ALL METER UNITS
TERMINALS LOCATED
DENOTES RAYLEIGH RI-F400 IN CABLE CHAMBER
€Q% METER MULTI FUNCTION METER
FITTED
L1 12 13 N FIRST METER
MF SEE GA D+ Ya yay +
¢A 7 D-| | U |T|_ - IN
O><0O 8 SCN
9
O><0O
LOOP TO ALL METERS
L oo LAST METER
NL SEE GA b N N "
1 I
= — L1 D-| o - ouT
TYPICAL
= OUTGOING |—L2 T— SCN
= —1L3
CUSTOMER REV  [DESCRIPTION DATE
A SWITCHBOARD UPGRADED TO FIT-OUT 13-12-22
WALTER MILES ELECTRICAL ENGINEERS LTD B 1600A GENERATOR INCOMER ADDED 22-12-22
C NO MODS THIS SHEET 2-2-23
D WAY 8 CHANGED TO 630A/METERING ADDED 2-2-23
e EMG PLOT 5 E
LAY FLUT O |
SELECT SWITCHGEAR & CONTROL DRAWN ISSUE | SHEET No [DATE DRAWING No
Unit 2, 7 Magna Road, Wigston, Leicester LE18 4ZH
LV DISTRIBUTION BOARD 2 Tel : 0116 2787776 Fax : 0116 2477760
e-mail - info@selectswitchgear.co.uk J DENHAM 5 2 0F 2| 23-1-22 JL16TA






